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.‘Immrs Geometry - Ch. 7 Test (Similarity)
116
1. A model is made of a car. The car is+8-feetdong-and the model is 7 inches long. What is the ratio of the
length of the car to the length of the model?

A, 10:7 B. 7:120 G 12[]::? D. 7:10

2. The measure of two complementary angles are in the ratio 1 : 5. What are the degree measures of the two

angles? 8 0

~—362 4° C. 30°and 150° +5 e - IS

B. 15°an D. 18°and 72° 151 =t§
I1$-£ =148

3. The measures of the angles of a triangle are in the extended ratio 2 : 3 : 4. What is the measure of the

smallest angle? - 180 180
C. 80 — =—=20
24714 9

B. 60 D. 20
? o % '2_ = "‘E 4]
What is the solution of each proportion?
-2k WE9
—_— ¥ a ? L ]
A. 32 B. 128 D. 16
3y-8 by 5(37'%): I?—? 'Ho- ___’3
D e— IS - g y
' 12 5 j 2 ‘o 0'27
A. -10 B. -7 0 ==
40
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6. Given the pmpoﬂi—ol%—fpfhat ratio completes the equivalent pr';:-[::curtit:):;*“5E = ﬁ?
a

5
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| D. b




1. ABCDE ~ GHJDF. Complete the statements.

Are the polygons similar? If they are, write a similarity statement and give the scale factor.

NU[ drawn to scale.

C. WU, —

D. The triangles are not similar.
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C. x=55
D. x=10
L
# X
ri=4

11. B 4 c
Al C. 4

D. 20 "

12. You want to draw an enlargement of a design that is printed on a card that is 5 in.

6
24
32 y
11 - In-3= 24

D: A

-
by 6 in. You will be

drawing this design on an piece of paper that is 8 5 in. by 11 in. What are the dimensions of the largest

complete enlargement you can make? (’_j g.¢
2. . 1. 1 1. == T&e— use
A. lsln.h‘_{il5 in. L 3,’ m.byli}g n. Y Sonaler

1. L, x, 1. 1
B. 85 m. b}f45 in. D. 13 in. by 105 in. -E:'"

R
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S-].7=8.§

3 6||

T=16.2
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Name:

iagr 3.1 centimeters apart, ~
13. In a diagram of a landscape plan, the scale is 1 cm = 10 ft. In the diagram, the trees are

How far apart should the actual trees be planted? 2 ) wlb= 2 ,h o4

A, 3.1 feet C. 310 feet

C:B;B I feel ) D. 31 centimeters

14, Are the two triangles similar? How do you know?

B._¥€s, by = D. no

15. Are the two triangles similar? How do you know?
J

H

M m

K .
e} 9
A 1o B. by SSS~ (- C. yes, by AA~ y\m@

State whether the triangles are similar, If so, write a similarity statement and the postulate or theorem

you used,
___le. 4 5 ; B
= B /\
s )z p - . 1.5 75

e

——
. AABC ~ AMNQ, SSS~ .
= ; D. The triangles are not similar.




AQRS ~ .é.VTU;@ D. The triangles are not similar.

18. Michele wanted to measure the height of her school’s flagpole. She placed a mirror on the ground 48 feet
from the flagpole, then walked backwards until she was able to see the top of the pole in the mirror. Her eyes

were 5 feet above the ground and she was 12 feet from the mirror. Using similar triangles, find the height of
the flagpole to the nearest tenth of a foot.

-
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) '."-,_lr\_.. O _E_,_
ey — x 7

o= 1
A8 4
I2x = 2140 X =00
X=20
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A survey crew made the measurements shown on the

19. Campsites F and G are on opposite sides of a lake. ¥l sosle.

diagram. What is the distance between the two campsites? The diagram 1s no

F
X738
- 41 B2
B =3468. 6
X=H2.3

[ A 423 m ) B. 474 m C. T38m D. 828m

What similarity statement can you write relating the three triangles in the diagram?

u v

C. AWUT ~ AVUW ~ AWV
D. ATWV ~ AVUW ~ AUWT

M
T e R e e
CA._AIMEK ~ AMLE ~ ATLIT™ C. AJLM ~ AMLK ~ AJKM
B. AJMK ~ ALMK ~ &JLH D. AJKM ~ AMKL ~ AMJL

Find the geometric mean of the pair of numbers.

22, 4and 7 (”—"“?\
A. 42 B.\zi?’/) C. 28 D. /35

] =




.-———"""“"'-"_"-‘_“-H
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L C a=80b=45
=g

25. Kisten lives directly east of the park. The football field is directly south of the park. The library sits on the
line formed between Kristen’s home and the football field at the exact point where an altitude to the right

triangle formed by her home, the park, and the football field could be drawn. The library is2 miles from her
home. The football field is 8 miles from the library.

Park Home

(2t
2 miles
Library
L orrt
8 miles
~30

i A3

Football field

a. How far is library from the park?
b. How far is the park from the football field?

A._4miles; 4+/5 miles —C=SmilesyQmitess

L0, miles3x D. 4 miles; 3~/2 miles

HHES
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26. What is the value of x, given that PQ | BC?

A
8 12 __5_’;_,_{2__3_
P X L 3

x 18 2}(




ID: A

29. What is the value of x?

\ ,
,;\ > ——:‘3& & 3;(47
Ix+17

L Sx-8
\sx-3 3(5x-8)= ’-%(Bx-r")';}

, i
lxX
Ty
\ JSx-24= I2Zxt+28
52 3x =52 52
A, — B. C. 17 D —
3 4 7

e
30. LO bisects ZNLM , LM = 18, NO= 4, and LN = 10. What is the value of x?

et

|

s if:_'ii
s 2 M x
2 M Sx=24¢

18
B. 45 C. 5.43 D. 222
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